
CWDL-2 .No. of Printed Pages : 4 

CERTIFICATE PROGRAMME IN 
EMPOWERING WOMEN THROUGH 

SELF-HELP GROUPS ■.0 
O 

Term-End Examination 

June, 2011 

CWDL-2 : SELF-HELP GROUPS 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt any five questions. All questions carry equal 
marks. 

1. (a) What are the disadvantages of the top-down 	8 
approach to development ? 

(b) Discuss how self help groups (SHGs) play 12 
an important role in the new community-
based "bottom-up" approach to 
development ? 

2. Discuss the characteristics/attributes of successful 20 
self help groups. Give examples to support your 
answer. 

3. (a) Describe the roles and responsibilities of the 15 
members of self help groups. 

(b) How does rotation of leadership help in 	5 
improving group functioning ? 
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4. What is convergence ? How does it improve the 
delivery of Government Schemes ? 	5+15=20 

5. (a) How does forest degradation affect women ? 	5 
(b) Discuss the role of self help groups in forest 15 

use and protection. 

6. Is education linked to empowerment of women ? 20 
Discuss giving examples. 

7. Discuss the role of self help groups in managing 20 
community assets and public services. 

8. Write short notes on any four of the following : 	20 
(a) Benefits of SHGs 
(b) Land and property rights of women 
(c) Networking 
(d) Stages in SHG formation 
(e) Women as agents of change 
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